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PHYSICS

in ‘-the output of a
thout ﬁlter is- 10 V..

P



(b) The unit of the ratio of mobmty and
| diffusion’ coefficient of a senﬁconductof.is
(z} v

R .

e (uL)V cm";i; : it o
’ (c) The voltage ""gam" of -an{-amphﬁer Wlth: 9%
v negatlve feedback 1s 10 The voltage ga1n

(iiz} 100"
@) 125

7,'.¢ % -,

y 'f»(-;ChoOse ,kthe oorrect answer)
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_ ‘i'(d) .The % mammum htheorehcal eﬁicxency ofa
class B push-pull transmtor amphﬁer is

('") 70- 7%'-
iv) 78" 5%




(e) An oscﬂlator “using senes resoniant

| ‘circuit with iriductor L and capacitor C

S wEE produces oscillations of frequency f. If L
R is doubled and C is changed to 4C, the
T | frequency of oscxllatlon will be =

; (z} f /2 e
(i) Fif et
( ) 8f i ‘

= crystal havmg donor concentratlon

l~;f~concentrat10n 1 4 x 1018

g e A '-?.:-=‘L*;~‘ %

i and . the -voltage. amphﬁcatlon factor is
840. Find the' colléctor current when
the base current.fls" ‘1‘72'mA' |

(cﬁ sthngmsh between Zener breakdown Ly o
o and avalanche }breakdown m a p—n oy

: f’Fmd the ratlo % Of*"- clectron to hole-
7. »‘concentratlon‘ m an n—type ~silicon

: 24 M3 .
.;_1_ 4 x10 and mtnnsxc camer ;

,«‘";"‘lz‘he power gaJn Of ab—B amphﬁer is 800 i




(d The capac1tor used in a Wien ‘bridge
oscillator is of 300 pF. What should be-'
the value of the rcmstance SO that the

) ' .frequency of oscﬂlatxon is . 20 Hz?
(e) What is negatwe feedback? How can it
mcrease the stab1hty of -an: amplifier?
- ."’Usmg Boolean algebra prove that =

(A+B)(A+C)‘ '. A+BC

L Explam the- formatlon.of potentxal'bamer mj'
Loia Pt _]unctmn, Denve ..anfjf?xpresswn for the
“barrier ‘potential. - What FE

barner under forward and reverse b1ased

‘ i e 3+4+1-8

What is - npple‘ factor? Calculate the npple
factor of A ftﬂl—wave rectlﬁer. "Discuss any

. _.one- ‘method for mmumzmg npple factor. 2
1+34%




. 5. (a) Explam how amplification is ach1eved in
| a transistor. - . | 3

(b) What is transistor blasmg? Discuss the
R voltage divider bias method of transistor

bxasmg and calculate the stabxhty factor.
: T I L 1+(3+2)
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Draw the c1rcmt d1agram of a ‘R-C
coupled amphﬂer and g1ve its low- -
frequency equlvalent 01rcu1t Calculate |
the'.gain at low- frequency range and
explaxn why galn : mcreases w1th

' | Y z.+4 6

‘;--»a: v1brat1ng p1ezoelectnc crystal Fmd the
expressmns for resonant frequenc1es in

(57 | What 1s the functxon of: 'Isﬂlcon dlomde.
layer in an IC9 How 1s it formed? 2

(c) »_Show how an OP—AMP can be used as a-’ R
dlﬂ'erentlator or an mtegrator. . o

7 (a) Draw the loglc dlagram of a full- adder, el
and d1$cuss its workmg by glvmg the
h'uth table. RN




B ) State De Morgan’ S theorem and apply it e

o to show that .. -
. it A+B+C (A'+B)C 5 2+2=4

| (zf What s a Kafnaligh niap? ‘How _many e

© - . squares are there in a three-vanable o




